EHRES %£133%F i & K

B M N EMBREE224%F (he1:)

B = A& 20 wAVREEE

E F £ |BHJFAERE

B oo\ R 934. 19m (282. 591¥) [ITE[#:11=3
120. 89mi (36. 571F)

s (1F 95.04m 2F 25.85m)

s 2 fi % [1405H EEREY

B H 5 HhNIZ2~35TEE ®

M & 9 7L

B B’ OK R mRAIEETS JtAEAITE 6m RS
- ZICH-YRREMEYMERGIXHGE

P HEXBMARNLES, F I AR

. ogm | ERFE. FTEOBBABETY,

- ZFMICE. BEMNImETRIZAY F9,
-SEYELIZHE-T, THOAENABLETT,

B R 5 B

1/3R=2




2B FIZE)

Epubylol S8

BERADEIEIAN—Z

2B B

BEIITHRSA U+

- B AR <, éﬁr*."bﬂiﬁc‘:d)’ﬂziﬁb‘j

cELLL, BENFELRA
I2E8HTYT, (BE-)

- BAIC+ A HEERR—X
KHYET,

- BuhE, mEEEETSIC

-CTO

Y

HEN, FIEELS G
T3,
F'EI By l
LiF)
e /
FRR Wik . — #Fo
Al — A
. H=EQ
HHjS 11 *D(E:)@ (4.5) PN |
T TF = kL
A il I .
A [ E 1T Wl C
L: -}_" ;‘3%)@ | f
wA | (L] [ =1 HEQ
151 (6) liprry
[E&fmKkiR )
g K 55AFE JE] = KT A 5 —=h
7K B K& ka4 L Kig ERK
T /K & ERE W7 T+ |TO2ILEREE
V) 3 TONRVHR 129-%y b SEEE BIREATE. MAZKLDLE)

2/ 3 R=




OF ZfERA~ DR

&R (AT F EREFEAE X 5. 7km ER (RB) TEREEGERT 4. 3km
JRER T EER  13. Okm BEh ESHETENER 1. 9Kk
INR = BFEN\XE 0. 1km A—/\— HAASFEEE 10, 9km
e - B EBmEER 4 1kn SUEZ - ME&E |54 ) —HNERfEE 0. 6km
INFIR FH =< 5/NFR 4 9Km BER B HRER 5. 4km
FEE ERGESE 5. Okm e BETERam 9. 4kn
ﬂgiga@ﬁi 4 4km
= hg:— 8. 3km
mE HERERE 5. Tkn 2 Dt TESEE s o
BIREFAEIC 4 8km
O%1 > TH ==L ihisiEsR
- BREEEEFEE 7 EHAVCHEBELTS Y. DY IZABENEN > TV SHETT,
C AOHIA0N . FTAHSETREEA TV COMBO T HELITEE ) T,
Hh s DB - BRERAEEILETEFEREIEAE I CAHY . HBHECHIBRETT,
CRERES AF—BETCETHIOND =D, T4 U A—RAR—VEBETEET,
- FREZLEAYOETCHTT., BILFEDAICESTTHTT,
1A RAL: HFEOESHLETSE
TOM: —EOEREKEBES TS
28 MRS £E0ER. BEEEY
3 &£%E#RS
AR BERAKDRLIFHEL
EREES  tRE LA SEEEED BT
68 HEOERME: BENY
78 EWNY : 2EENY
KTH - FRMEKT
FE . 4R 8H fEHiEXS  FHEXADHEERS
T = REYKRS  EEZBHEOREY KL
98 HMEL EETHSHES
INFELR : ZAEMOINEER LY,
INRIT . £EETOIMNNRATEER
MR EZHKORLIFHEL
-HES R, FOBEEEER, 28U TOATHER,
- ZEAL BN Y L EEER, 605 EDANTER,
- SHBEE - Hhis % 57 2 M B AE S
- I OZEDOR - B 1E. RHEAStE 42 — %
s CEE LT - NREE EHEE. B2RY. INRTEEOER
W3 ERZ
BN (K) EB% £317, 000~ 4E RS
P %%?ﬁ%b%ﬁﬁ%tﬁ%@%t%Mbrutﬁ%~mﬁw:sl:ifw—étﬁor
-0y,

3/ 3 R=

TH2F10A 228 HEHER




